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1BERUIONRT v P R—ILKRE 1,440,000 0 1,440,000 0
2IBERULZMENR Ty bR—LY =X ERE 3,638,000 1,758,000 1,880,000 0
BBERUIZART v b R—ILRE HBERREREEIFT-—VXE 2,280,000 1,367,000 384,000 529,000
ABERUIZEZEANRT Yy bAR—IL ) =T RR 2,450,000 1,010,000 1,440,000 0
S5[BERUIIFIANZ T v bAR—LY =7 EAE 2,915,000 1,195,000 1,440,000 280,000
6|% 3EIFERUIBEFEZENZYT v bFR—ILKR 2,080,000 1,080,000 1,000,000 0
T|%E 5 EE£EUISNR T v PR—ILEFEARFTERFE (IR - 2X) 1,380,000 780,000 600,000 0
8BS BB ERULS/NR Ty biR—IL ) — 1,640,000 -760,000 600,000 1,800,000
IFESEFIERUIANR Ty bR—LY =7 1,640,000 -260,000 600,000 1,300,000

101\EHy 7 1,000,000 795,000 125,000 80,000

1|BTTE2ESEFRNR Ty PR—LVEFEASBER T2 1,534,000 1,134,000 160,000 240,000
R2(BERUITESZNRT v bR—LXERE 2,950,000 1,310,000 1,640,000 0
BB/ ERUIBNR 7y bR—L U =7 984,000 0 984,000 0
14| @R 4 XBR= 700,000 700,000 0 0
15{3x3 Ul8 HAEFEARBFERTE 70,000 0 70,000 0
6| BEBHSANRT v bAR—LY =2 3,544,500 2,144,500 1,400,000 0
17| 6 AL BATEANR T v P R—LVEFEASBERE TR 661,000 411,000 250,000 0
18|% 7 £ B AR A0-40/0-50/ 27 v b R—LBRFEARBFERFER 246,000 126,000 120,000 0
OFEAEBERHRANRT Yy bR—LT7 LY P =2y TRAER 471,000 231,000 240,000 0

200BFREIT—-IL FvR4Z—X (0-60) K& 162,000 82,000 80,000 0

21|39[E 3x 3 AAREFEARKERFER 132,000 52,000 80,000 0

2Z2|HERRAR—=Y R RAEZ—R202 KB ERFEF /N U 382,000 262,000 120,000 0

|BEERAR -V ARBFERETFER MEDR 841,000 591,000 250,000 0

20| REN - EEMHEBANIT Yy bR—LVBEFEASKEE TR 752,000 592,000 160,000 0

25(anNbrhy T (EHAWLE) 100,000 100,000 0 0

26| BT8EERESHFEFZRBFNRT v b R—LEFERSR 500,000 500,000

21|EXRH v 7 200,000 200,000

G & 34,692,500 | 15,400,500 | 15,063,000 4,229,000
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28|%mEBB N U — LAy 72023 5,100,000 1,500,000 1,300,000 2,300,000
a B 5,100,000 1,500,000 1,300,000 2,300,000
I s G g 39,792,500 | 16,900,500 | 16,363,000 | 6,529,000
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1Rt 50,000 50,000 0
2| BHAE 50,000 50,000 0
3B E 50,000 50,000 0
LExEHAE 50,000 50,000 0
S|BiREs - B EESE 50,000 50,000 0
6|3 x 3EEE 50,000 50,000 0
T|BYIHaE 258,000 100,000 158,000
8| T OMpaE 50,000 50,000 0
9|t E 70,000 70,000 0
10| RFRERZELE 70,000 70,000 0
12— 2XBREECE 300,000 300,000 0
R|ZAR=VERFESE 50,000 50,000 0
13|feEEBREELRE 60,000 60,000 0
14|% v RBEHERZES 50,000 0 50,000
14|U12A 57 T — 2B 1,000,000 1,000,000 0
15|U15A 7 I —#EE 100,000 100,000 0
16|U18 A7 IV —HaE 100,000 100,000 0
=) 2,408,000 | 2,200,000 208,000




